
  

 

 

 

ℕ

ℕ {0 ; 1 ; 2 ; 3 ; 4 ; … }

4 ∈ ℕ 4

−2 ∉ ℕ −2

 

ℤ

ℤ {… ; −3 ;  −2 ;  −1 ;  0 ; 1 ; 2 ; 3 ; … }

−2 ∈ ℤ 5 ∈ ℤ 0,33 ∉ ℤ



  

 

 

 

ⅅ

0,56 ∈ ⅅ 3 ∈ ⅅ

1

3
∉ ⅅ

1

3
≈ 0,3333 …

3

4
∈ ⅅ

3

4
=  0,75

: 2,36
236

100

236

102

 

ℚ

𝑎

𝑏

1

3
∈ ℚ 4 ∈ ℚ −4,8 ∈ ℚ √2 ∉ ℚ 

 
 
 
 
 
 
 



  

 

 

 

√2 √3 𝜋

 

ℝ

2 −5 0.67
1

3
√3 𝜋 ℝ

• 

• ℝ



  

 

 

ℕ ℤ

5 ∈ ℕ 5 ∈ ℤ

ℕ ℤ ℕ ⊂ ℤ

ℕ ⊂ ℤ ⊂ ⅅ ⊂ ℚ ⊂ ℝ



  

 

 ℝ

 

𝑥 2 ≤ 𝑥 ≤ 4

[2 ; 4]

𝑥 −2 ≤ 𝑥 ≤ 7

[−2 ;  7]

4 ∈ [−2 ;  7]
−1 ∈ [−2 ;  7]
8 ∉ [−2 ;  7]

 

• [– 2 ;  5]

−2 ∈ [– 2 ;  5] 5 ∈ [– 2 ;  5]

• ]2 ;  6[

2 ∉ ]2 ;  6[ 6 ∉ ]2 ;  6[

• ]6 ;  +∞[

2              4 

0        1 



  

 

𝑥

2 ≤ 𝑥 ≤ 4 [2 ;  4]

−1 < 𝑥 ≤ 3 ]– 1 ;  3]

0 ≤ 𝑥 < 2 [0 ;  2[

2 < 𝑥 < 4 ]2 ;  4[

𝑥 ≥ 2

[2 ;  +∞[

∞

𝑥 > −1 ] − 1 ; +∞[

𝑥 ≤ 3 ] − ∞ ;  3]

𝑥 <  2 ] − ∞ ;  2[

ℝ ] −

∞ ; +∞[

 

0        1 

0        1 

0        1 

0        1 

0        1 

0        1 

0        1 

0        1 



  

 

 

𝑥

𝑥

 

∩

∪

𝐴 ∩ 𝐵 𝐴 ∪ 𝐵

𝐴 = {1 ; 2} 𝐵 = {1 ; 3 ; 4}

𝐴 ∩ 𝐵 = {1} 𝐴 ∪ 𝐵 = {1 ; 2 ; 3 ; 4}



  

 

 

– 5 5 |−5| = 5

5 5 |5| = 5

|11 − 13| = 2

|13 − 11| = 2

𝑎 𝑏

𝑎 − 𝑏

1,5 4

|1,5 − 4| = |−2,5| = 2,5


